02 7010

501 ¢ B

- T14

| | |
Y . !
5 1 ) 5 &«]_O o1 d elofclolo
8 +8V 412 1 4 1 1 e 1 3
1" Local %) © 5?, ,‘%Cg Y gJ 2182082 |28
O——— oV o ¢ o~ o o od o= o od o
aed 0" Distance é v
? Q 9 (P C ? O Signe * 9}/‘ vers circuit porieur
i ] 7}/- to Interconnection tuard
ction F<10Hz [ -
Inhibition
e e
02 6909
v 124
Vi 26y A?
RE e 2z2x 24
A28 22n soer U G
£h. 2010 — p— 4 ol ]
—RN CR9.2010 &t n 03
%zn Signe * N - R Y
J L2 = _ [ : 3 o
2 5
&*‘% 2—4«. 3,34 MARCHE
sV v INHIB oN
G F<i
o ol Eovd 1%——“3 E o O_T E—
+6V < R23 "1 e
“ 8V o o - Ltk o
o o Inhibition guen N O ol o o
R18 o
22k | o5 ; @
14 "1"Leocal Bc18uc @
N
‘0" Distorcce
,‘4 i
[RE R22
TN i 8 3308 25
3037 o e
3308 L — \, A , :
vers

@4 6V to DEMODULATOR AMPLIFIER

Sortie
Output

FS: 10 Hz/ 1 MHz

‘1 + 6V vers DEMODULATEUR AMPL!FICAfEl.lR
!
i
I
i
i

issu du DEMODULATEUR AMPLIFICATEUR

from DEMODULATOR

AMPLIFIER

transformateur
d elimentation
to power

transfoermer

C dncamant e it Hro communeud

ndret =izo

CONTROL

preiivion Sifipurgfoare: suier 1
£TUDIE | DESSINE | VERIFIE] 2 230 A e 3 / .
ACORT] HW CIRCUITS DE ZOMMANDE

CIRCUITS

9]777.003/B




51

RS

I
2

i

4

3




zProdve

L

= 8 o

RN




= = S - oo e oo & e o o — PSS SR NV USRI U0 S RO VAP OO, |

NN - N ----.g.‘..g.';---'-- ERXKERNN

0270030100 09 COMMUTATEUR MODE .... 2230A * 03 MODE SWITCH ......... . 2230A 1932523 8977003 *
REPERE  REF. ADRET DESCRIPTION FOURNISSEUR/PLAN  QTE
INDEXE. PART NUMBER : PART DESCRIPTION SUPPLIER/DRAVING QTY
-001 3700180000 22MMF/16V 5,08 ... STAND L TAG ® 22MMF/16V 5,08 ... STAND L TAG STC 1
-002 3700180000 22MMF/16V 5,08 ... STAND L TAG * 22MMF/16V 5,08 ... STAND L TAG SIC 1
-003 3700180000 22MMF/16V 5,08 ... STAND L TAG * 22MMF/16V 5,08 ... STAND L TAG STC 1
-001 4500310000 1 N Y4448 ................ ... EINUWHHS Ll 1
-002 4500310000 1 N Y448 .................lll. L G S RS B GBaBE00Haaa0 6 ITT 1
-003 4500310000 1 N 448 ................ ... EINWYB L.l 7 D!
-004 4600080000 ZPD6,8 ...............iiilnnn, 1) N B I e PSP et eroarere I 1
-005 4500310000 1 N Y448 ................. ... LI N L G o e o P o0 ey ITT 1
-006 4500310000 1 N 4448 ...............c..ne L G A S s A G800 00650666008 m 1
-007 4600170000 ZPD 10 ...........c..cuienin L N e B S A RS BRI HA 800003008 I 1
<008 - 4600170000 ZPD 10 ......cccevieivninnanss S N OO RACINOAE e T 1
-001 1520312200 03 TOUCHES ORE 10 .MODE. 2230A * 03 TOUCHES ORE 10. .MODE. 2230A 932471 1
-001 - 2133100000 10K 3/4° 157 CERMET Y3 P * 10K 3/4° 15T CERMET 43 P SPECTROL 1
-002 2132470000 4K7 3/4" 15T CERMET 43 P * 4¢7 3/4" 15T CERMET = 43 P SPECTROL 1
-001 4300580000 BC 337-25 10 92 ..... (2N2222) ® BC 337-25 70 92 ..... (2N2222) ITT 1
-002 4300190000 BCSSOC /‘41‘1[:/‘!13[:/5‘190(8018‘16) ® BCS50C /414C/413C/549C(BC184C) RTC 1
<003 4300130000 BCSSOC /414C/413C/SYSC(BCIBYC) ™ BCHSOC /414C/413C/SHIC(BC184C) RIC 1
-004 4300190000 BCSSOC /414C/413C/SHIC(BCISHC) * BCSSOC /414C/413C/SHIC(BCISHC) RIC 1
-005 4300190000 BC550C /'-1140/413(2/5490(8018%) * BCSS0C /41%14138/5490(8018‘00) RTC 1
-001 2210006800  68R ) * 68 Y OQUCOR 1
-002 2210011000 - 100R 53 N‘-I * 100R 5% H SOUCOR 1
-003 2210021200 1K2 51 N4 * 1K2 S%- N4 SQUCOR 1
-004 2210013300  330R 51 N4 *  390R 5% N4 SOUCOR 1
-005 2210032200 22K 5% N * 22K 5% N4 SOUCOR 1
-006 2210003300  33R 5% * 3R S% N4 SQUCOR 1
-007 2500210000  10KO * 1% 0,3 W  SMA207 *  10KO ™ 12 0,3 W  SMA207 DRALORIC 1
-008 2500133200 K32 * IX 0,3 W SMA207 * 3K32 * 12 0,3 W SMA207 DRALORIC 1
-009 2500178700 K87 * 1 0,3 ¥  SMA207 * 7K87 * 1% 0,3 4  SMA207 DRALORIC 1
-010 2500269800 69k8 * 1X 0,3 4  SMA207 *  69K8 * 1X 0,34  SMA207 DRALORIC 1
-011 2500211300 11K3 *1X 0,34  SMA207 *  11K3 *1X 0,34  SMA207 DRALORIC 1
-012 2210018200 820R 5% Ni*  820R SX N4 SOUCOR 1
-013 2500240200  4OK2 * 1X 0,3 W  SMA207 *  40K2 * 11 0,3 ¥  SMA207 DRALORIC 1
-01% 2500224300 249 * 1X 0,3 U  GSMA207 *  24K9 * 1X 0,3 W - SMA207 DRALORIC 1
-015 2500316200 162K * 1% 0,3 4  SMA207 * 162K * 1X 0,3 Y  SMA207 DRALORIC 1
-016 2200052200 2M2 5% * 2M2 5% CB ALLEN BRADLEY 1
-017 2500310000 100K * 1% 0,3 W  SMA207 * 100K * 1X 0,34  SMA207 DRALORIC 1
-018 2210032200 22K S N x 2% 5% N4 SOUCOR 1
-019° 2210021000 1K0 ST N4 ™ 1K0 5% N4 SOUCOR 1
-020 - 2210022200 2K2 5% N4 * 2K2 5% N4 SOUCOR 1
-021 2210013300 330R St N4 * o 330R 5% N4 SOUCOR 1
-022 - 2210013300  330R 5% N4 * 330R 5% N4 SOUCOR 1
-023 - 2210034700 47K 51 N4 *® 4K 5% N4 SQUCOR 1
-024 2210034700 4K ST N E 4K 5% N4 SQUCOR 1
-025 2210034700 4K ST ONE WK SX N4 SOUCOR 1
-026 2210031000 10K ST N4 * 10K 5% N4 SOUCOR 1
-027. 2210012700 - 270R SX NI E O 270R 5% N4 SOUCOR 1
-028 2210011800  180R SX N4 * o 180R 5% N4 SOUCOR 1
-029 2210011800  180R 51 N4 *180R 5% N4 SQUCOR 1
SN -001 4160405300 C-M0S 4053 ................... ®C-MOS H053 ................... RIC - 1
SN -002 4200180000 LM 1458 N B+ DIP 8 PATTES .... * LM 1458 N B+ DIP 8 PINS NS 1
Z1 1100520000 FIL.NU.ETAME.Y/10 ............ ® TINNED BARE THREAD 4/10 ELECTROFIL 0
21 1270030400 CI CIRCUIT MODE ........ 2230A ® PC MODE CIRCUIT ........ 2230A 0397003 1
Z1 . 1300600000 SOUPLISSO 1X1,2 COUL. NATUREL ™ SPAGHETTI 1X1.2  GRAY COLORED HABIA 0
g 4900310000 16 SUPPORT C.I. DIL  723-5016 * 16 CONNECTOR P.C. DIL J23-5016 JERMYN 1
26 6400280000 PLOT A FOURCHE SOUDE . BFMQI3C ® SOLDERED FORK CONTACT BFMQ13C COMATEL 3
28 8006763200 TOUCHE GRISE D6H11 OREOR 2230A ® GREY TOUCH D6H11 OREOR 2230A A342431 3



REPERE
- INDEXE

0270100000 04 BLOC ROUES CODEES ... 2230A * 04 SPIN WHEELS BLOCK . . 2230A 03203933

L ¢4 ‘ . llllllllllllxl;l;i;il;‘i;Iiu ég&é‘“'

XN 000X 21
REF. ADRET DESCRIPTION FOURNISSEUR/PLAN  QTE
PART NUMBER PART DESCRIPTION SUPPLIER/BRAVING - QTY

0270010000 02 ROUE CODEE EQUIPEE . 2230A * 02 FITTED SPIN UHEEL 2230A *342914
1100530000 FIL.NU.ETAME.6

1270100300 CI ROUE COOEUSE ........ 2230A ® PC SPIN WHEEL .......... 2230A E997010
1426020000 26 TRANSITION COUDE 3429-5003 * 26 BENDED LINKAGE .. 3429-5003
1540007800 ECROU FENDU M2 ............... ® SPLIT THUMB M2 ............... CONT VES

..........................................

0000 1 N ‘*‘H ITT
4900150000 16 SUPPORT NATTE °S’CA-165- TDS = 16 NAT CONNECTOR ‘S"CA-165-TDS EUROPAVIA
6130121200 LAO 2 X12 CYLINDRIQUE FENDUE ® LAD 2 X12 CYLINDRIQUE FENDUE SAGIC
6200020000 ECROU H M2 U NF E27-411-5 INOX ™ NUT H M2 U NF E27-411-5 INOX .

6300010000 Z 2,5U( 5X0,5) NF E27-611 INOX *.Z 2,5U( 5X0, 5) NF E27-611 INOX BD

6301020000 DI 2 EvemniL NFE 27- 618 INOX = STEEL 2 FAN' NFE 27-618 INOX BD
6360011000 BAK 2,6X 5 PLATE .- 100A * BAK 2.6X 5X 1 PLATE .... 100A MFOM
6800220000 TIGE #ILETEE ITON ....... = THREADED PIN M2 BRASS . .......

VEBER
6300160000 COLLE D* ARRET ROUGE 9036 BIS * RED STOP GLUE ....... 9036 BIS MESPOULET

............ TINNED BARE THREAD 6/10°...... ELECTROFIL

-3
PO LR LU= LN RO W



FS:30H2 /1 MHz
issu de
DEMODULATEUR
AMPLIFICATEUR

from
BEMODULATOR
AMPLIFIER

Sortie Z< 1)

228
Al T —— + 12V
Pt
4700
R15
R19 1008
27k
@3
BC327. 25
24
L5302
¥ . 3
’ =
- NN
7 ) {E ) .«2?/9‘ .
8c2nuC o 27pF
Rt 2
\ v
o
R13 P H .
- | —
8200 . tre [
T~ — e ] 2c INGlke e
f R, . 2
7 R12 . 2
1002 i< [ | en hia
3 T
\ 21
G ) e Lez
I Bc184c [ — ) )’ . 290 i
7w ”E 202905 &5
+ 1372 1,99.0
3 1 -}
.
Re
oy 100
B uf ? S QY
Br327 75
9 R1D R4 R7
3,01k 7502 10082 10042
U
cs 330pF
22 uf I
H{ - 12V

Z< 11l Qutput

7 A

PLATE V-9

PLANCHE V-9

G Somummn w0 povt due communqut

DT STy — DATE: JUILLET 1978
£TUDIE|DEMINE VERIFIE 2230 A PAGE: 1 /1
ACORT| Hw AMPLIFICATEUR Z<10) M

Z<iD AMFLIFIER 9/717/0/9/4]A




232029:023292!ﬁ5=023Z:JD:DJD20:0:52925:353:;‘3‘313‘0‘0CDCDCDCS(1C7C7C7C7C7C7C7C7f7

REPERE
INDEXE

-001
-002
-003
-004
-005
-006
-007
-008
-003
-010
-001

00 0 I0E 006 300 90020 O 25000 30 200 76 O30 OO 0 00 00

®0270940000 01 AMPLI 7=0 .......... 2230A = O1 AMPLI Z7=0 .......... 2230A E932549.A377034 *

REF. ADRET DESCRIPTION FOURNISSEUR/PLAN
PART NUMBER PART DESCRIPTION SUPPLIER/DRAWVING
3120002700 27PF 2 L' 2222 680 10 279 * 27PF 2,5 ° 2222 680 10 279 COGECO

3120002700 27PF 2 s 2222 680 10 279 * 27PF 2.5 L 2222 680 10 279 COGECO
3120013300 330PF 2.5 N33 2292 680 S8 331 * 330PF 2,5 "N33°2222 680 58 331 COGECO
3120013300 330PF 2.5 ‘N33 2222 680 58 331 * 330PF 2.5 N33 2222 680 58 331 COGECO
3700180000 22MMF/15U 5,08 ... STAND L TAG * 22MMF/16U 5 . STAND L TAG STC
3700180000 22MMF/16U 5.08 ... STAND L TAG ® 22MMF/16V 5 oa - STAND L TAG STC
3700250000 47MME/6,3V 5,08 .. STAND L TAG * Y7MME/6,3V 5,08" .. STAND L TAG SIC
3700250000 47MME/6.3V 5.08 .. STAND L TAG ™ 47MMF/6.3V 5,08 .. STAND L TAG STC
3700250000 47MMF/6.3V 5.08 .. STAND L TAG * 4Y7MMF/6.3V 5.08 .. STAND L TAG SIC
3700250000 47MMF/6.3V 5.08 .. STAND L TAG * 'mmr/s "3V 5.08 .. STAND L TAG SIC
4500310000 1 N 4448 .. .. ... ... .... = LNwME L, T

gé
w
gg
—
=z
(-]
.
.

.
" o
—
zZ
(-]
.

.
Lo}
p
it

4500310000 1 N 4448 ..............00ea.e INYHUB .. .ieeeeiinnnannsns ITT
2131470000 470R 3/4° 15T CERMET 43 P ® 470R 3/4" 157 CERMET 43 P SPECTROL
2130470000 47R 374" 15T CERMET 43 P * 47R 3/4" 15T CERMET 43 P SPECTROL
4300190000 8C550C /414C/413C/S49C(BC184C) * BLSSOC /414C/413C/SHIC(BCIBUC) RTE
4300110000 BCS60C /416C/415C/559C(BC214C) * BCS60C /‘*130/"150/559(358(:214(3) RIC

4300570000 BC 327-25 70 92 ...... (2N2%07) * BC 327-25 10 9 .(2N2907) ITT
4300580000 BC 337-25 T0 92 (2N2222) * BC 337-25 70 92 . (2N2222) ITT
4800060000 2N2219 ..............ceoninnnn L4 b R R R aat AR 000000000 RTC

2
4800080000 2N2905 ............... ... .00 - RTC
2300096800 6R8 SFR 25 1/44 5% RC2T  * 6R8 SFR 25 1/44 5% RC2T  RIC
2300096800 6R8 SFR 25 1/ SX RC2T - * 6R8 SFR 25 1/%W 5% RCZT RTC

1
2500049300 493R * 11 0,3 U  SMA207 * 499R * 11 0,3 M SHA207 DRALORIC
2500049300 439R *IZ 034 SMA207 * 43R * 1% 0,3 W  SMA207 DRALORIC

1000  10R ST NK3 *  10R 5% NK3 SOUCOR
2210011000 - 100R 53 N4 *  100R 5% N4 SOUCOR
2500013700 137R . * 1% 0,3 W  SMA207 * 137R ®* 1Y 0,3 U  SMA207 DRALORIC
2500130100 Ol * 1% 0,39  SMA207 * 3K01 * 1% -0,3 W SMA207 ORALORIC
2500075000  750R * 1% 0,3 W  SMA207 * 7SOR ™ 1X 0,34  SMA207 DRALORIC
2210011000  100R SX N4 ™ 100R 5% N4 SOUCOR
2210011000 ~ 100R 5% N4 ™ 100R 5% N4 SOUCOR
2210018200 - 820R SX N4 *  820R S% N4 SOUCOR
2900001000  10R SX NK3 *  10R 5% NK3 SOUCOR
2210011000  100R SX N4 *  100R S% N4 SOUCOR

2500013700 137R * i%

0 SMA207 * 137R ™ 1X 0,3 U  SMA207 DRALORIC
2500075000 7S50R * 11X O 0,34

u
Y SMA207 ®  750R * 1% SMA207 DRALORIC
5% N4 SOUCOR

2210011000 100R S1 Ny = lOOR

2210022700 SX N& ¥ 5% N4 SOUCOR
1100010000 FIL NGIR ............. KY30-04 *® BU\CK THREAD ......... KY30-04 FILECA
1100030000 FIL ROUGE ............ KY30-04 * RED THREAD ........... KY30-04 FILECA
1100070000 FIL BLEU ...... (PAaBa0g KY30-04 ® BLUE THREAD .......... KY30-04 FILECA
1100430000 COAX KX 21 A ................. ® COAX KX 21 Ty Yt FILECA
1270940000 CI AMPLI 2=0 ........... 2230A ® PC A 270 ...l 2230A C997034
4900010000 DISSIPATEUR T 05 .. REF 207-AB * DISSIPATOR T 05 .. REF_207-AB SPETELEC
4300070000 ENTRETOISE 105 ....... 705-001 ® SPACER TO3 ........... T05-001 JERMYN

§400280000 PLOT A FOURCHE SOUDE . BFMQ13C ™ SOLDERED FORK CONTACT BFMQ13C COMATEL
8101120000 ECROU A SERTIR M3 H4  NICKELE *® NUT TO SQUEEZE M3 H4  NICKEL 81471

KU 00 T 0020 0 O 0 0 00 00 20 IO 2 003K O

22

QTE
Qry.

PO NI 1N it € €D (0 € bt bt bk s i bod et o . ok et ol b, ot b S (i o St et o S o o Yot et it . o b fnd ot o Brnd o it e ot frond ot



9'88 EEENEEXEEENE s ANEK

'0‘122302392 08 OPTION 2 IEEE ....... 2230A * 08 OPTION 2 IEEE ....... 2230A F332565

T 2002006 0 2000 0 00 00 30 3030 30 202 02001020 2 0 30 0 203000 0 23

REPERE
INDEXE

REF. ADRET DESCRIPTION FOURNISSEUR/PLAN
PART NUMBER PART DESCRIPTION SUPPLIER/DRAVING

0263370000 06 CARTE REGISTRE IEEE . 2230A ™ 06 IEEE REGISTER BOARD . 2230A E932563.8976997
0274880000 02 CARTE ISOLATION IEEE 2230A ® 02 IEEE INSULATING BOARD 2230A 0932961.C977488
0205430000 00 NATTE 26°171°°177°L.90 2230A * 00 FLAT-T.26°171 177°L90 2230A ADRET..........

.0206700000 00 NATTE 26°171°°171°L200 2230 * 00 FLAT-T.26° 171 171 L200 2230 ADRET ..........

1100530000 FIL.NU.ETAME.6/10 ............ ® TINNED BARE THREAD 6/10 ...... ECTROFIL
1269330000 CARTE INTERCONNEXION 2230A IEC *® INTERCONNECTION BOAR02230A IEC C996999 ...... SF
1424018400 24PTS CI°IEEE’ REF 57-20240-14 * 24PTS PC’IEEE’ REF 57-20240-14 AMPHENOL
1530214500 DOUBLE INVERSEUR CI TS .2 BLEU ™ DOUBLE REVERSER PC TS 2 BLUE IEANRENAULT
6100030600 TCB M3X 6 U DIN7985-4,8 INOX ® TCB M3X 6 U DIN7985-4,8  INOX Bl

6100031200 TCB M3X12 U DIN7385-4.8 INOX * TCB H3X12 U DIN7985-4,8  INOX BD

6200010000 ECROU H M2,5 U NFE27-411-SINOX * NUT H M2.5 U NFE27-411-5 INOX BD

6200030000 ECROU H M3'U NF E27-411-5 INOX *® NUT H M3’ U NF E27-411-5 INOX . BD

6303010000 ACI 2,5 ONDUFLEX REF 50025132 * STEEL 2.5 ONDUFLEX REF5002 5132 NOMEL
6303030000 ACI 3 ONDUFLEX REF 52030132 * STEEL 3 ONDUFLEX REF 52030132 NOMEL
6305030000 ACI_ 3 CONTACT REF 55-03-01 " STEEL 3 CONTACT REF 55-03-01 NOMEL
6701240000 ENLIS 2 L Y4 .. ... c.ocveuenn.. FENMIS 2L Y Lo, ACCEL
6700200000 ENMET 2 L S M3X0,50 TT ® ENMET 2 L 5 M3X0, 50 - TT ACCEL
8006702000 PANNEAU OPTION ‘I E C' . 2230 ‘T EC” OPTION PANEL . 2230A B942235.A942236
8008733100 FIXATION STANDARD IEC 2230A ® TEC STANDARD ANCHOR .... 2230A C342347

"'l'l---.lil!llllillli‘ilillll;lil;“l;i‘il’li‘ : PX‘GEV ’

QTE
QrY

NI N RIS OO0 N3 1N NI D L () 3D et € ot o s et



DECODAGE . '
DE CODING —
3y v |
i |! Diccdoge CR. CR decoding
| —
mazl
4% decoting 51 6x 47k
1
;.__
num;-sl"
|F> decoding
G
Iy ber
Stiw & |2
rcodogef< A .14’
£,
<dscoding swrs
| 4oz¥
p el
LN e s I3
T ¥
W) . £77074
gl aLiw ' il
T 2@ R g
L. I 2 e w8
e ey Gy INALLE
i 1€
2 i ™
Diécodoge F -
F decoding
0
2 s 5
ERE N
& l1 r
3 2
uos2 V-
i 1
Dicodage A &
A decoding i
N
[} H 1 L]
—— e
I REGISTRE ATTENUATION. ATTENMUATION REGISTER —l ' REGISTRE FREQUENCE
o} o °
| ' ’
l 515 i E§) 3 [> 1>
Ycp Swiu. 4015 3er SMW. LS Tlcp SW1E 4075 Slee Swis_ Lors _TJO, SNIE. 4015 B
e 7 7% N
l a2 @ f‘w 2 03 _av "ar_az a3 o0 Mler 2 @ & ' l R e
13 12 |11 j2 ]5 a {3 PL J:JIrz T Lz l 5 ]u Ia Iw I 13 {2 T }2 5
I o T 113 L T
L el e Ry a4 A | i e 3l
T [FRUURRE U S S — ——— e 1.
MEMOIRE ATTENUATION. ATTENUATION MEMORY —.I
s =23 = [ o AP GG sl =3¢ i
I Py I ] I P IR b B | o < & 4 -
- 1 1 L i I
| [llelle [ llelle e Jelele | o e Lo s
;;,r1213x9 LA NI P 7”:3:;3)45 wr':zu.u! ke rar Ea sy b vbﬂ,‘:
£2) 1 1 £D] ) " £
I 1o sweo uoiE E[‘,&V?’-W’ﬁ w2 [eleo 4247 % o Sv23 4076 7 | e sh24. w036 : Heo 5
1 GQR_03 av 01_ G283 G4 100 Q3 o4 ar 82 a3 ay 2y 03 gz ar oy
' RN !65&3 6 15 ¢ [3 6 |5 [« |3 { | BREEORY &
L e RS N i SR S SO S S—— B g S B B
'S
INGOOL
vee
= <] <6 L
45}4;[13'4;}J
Tnhibition
Consitonte de temps d ALC | o
ALC time constent 1 s l {
SIEIICIETIEICEI ® ®1o e
O O OO 0 0 O QJ® © ¢
R e—

0,01¢B 0 ¢8 148 1048 ) W lse CAUMENTATON] ¢
WV~tram POWER SUPPLY




+5Y fiettant
o floating +§V A x AN LBk
g l I = / % “m’
¢
23 3> G <) o 4 <i/}~ S
O (o] o) Ot Ve L‘lii(
e ,4\/ crs
O Q (e} o) .
LA
S0 r m
€x 47k
: -
Tﬂ 28 TL‘ _\15 5 3 ” %
“_;_pa 35 pl10 31 [  Ren I WIAC WRFZ DAV T L, ¥
37
B A e 22 —4
5 R wpa 138
L1PS) i SNT . HEF 4738 2ip4 43
3 P 154 1
P T 2105
14 4o I | wpg |2
151456 ; ! 2107 |2
! 3 9 52
ey cas A (T . . il &
. 1% wikl€ E a3 17 1% 2z 1
2 i L z
S | s 5V
R (155
Sw31. 4027 | A
OSCILLATEUR |
~ 5 MHz o i ”
2y, w13 b2
5 s OSCILLATOR » T5 15 DIVISEUR PAR 2
7 L2 s i
3 | “ DIVIDER BY 2 |, _
wose 75V I3 J 43 &7
] I Mkt X
207/ [ 85 2] ] 1
oo e, |k K@ !
4;,12 i
=]
00pr
14 | 4
100 M i
(14
f Tuf
N
J i
JOSE N — . h DID & DIG4
i DICtte DIV
8 B 2
l REGISTRE FREQUENCE FREQUENCY REGISTER b
‘ ] i
el 4 E 1z v i P A F) |
_1207 SNIE. 4075 ‘;” SW1B. 4015 A SWI6_LotS cr Sn16 . 4c15; '1 P SN17. 4015 Ier sw19. 4ots
RHY 02 3 Q4 ’?m 74 5 B2 A3 a4 a2 i ‘47 qe &3 @ iﬂi 22
3 [ T [2 5 1w l 5 T4 [ B ]uirz "R ]5 lz«
o <l af = vl = LI B A Y LA a - - R
| < @] ® = = <l < < 3 N NN
{
e o o ol e o. ol W w w MEMCIRE
wl o o~ 2 o <~ e ~ ~ - FRELJENCE
. +— { - FRECUENCY
o e s Je 2 el o L e mEwcRY
23 7 7 |4 I 2 EI T, a io2p X (B4 P32
o swai w1 o SH2T 4076 £o S425 407 (;
4 03 4z ¢ @3 @ & o3 &z &
REERE GEERDG B GRE
L ]
€RS — I
INLDOL
vee
<] B ;
B Tliur
ohibition -
4’ ALC T
t

b ]l
$®@f®©ée®@@@@w@m@w@”@ @”@“@@@”®®n.?

‘—V—’;}.fntz||&zvltz1oxz|.A:vnAz1
H

et N o e N et
e T 107 Ha 10 2 Hz 107 Hz 04 Hz 10542

[E——
WV~ irem POWER SUPPLY ! 1" Lotal By
POR

0 Distance

o botumert me ot e commurmuld dr.-t L:H:ﬂ 3 3t
o rap ot s wiorpation ] i = S SR TR

ETUDIE | DESSINE|VERIFIE] 2230 A
ACORT | DR REGISTRES #3US TIEC
i IEEE BUS REGISTERS

= 18 A | i 7
[T E U= oate : JULLET 1978




4014

877

4a

4¢

. 4015

-

SN 13

4082

RS

or

P7ZNS

) U /{7 A LAV

IENS
U L20¥F SON'D

68p
6,3V

cs

-

SN15

4015

Us __« Uze

2 > E

) @ @
N > .
N Y H
() Q Q
- ~ ~

Q o

3 Cu Cu

1] n [4]
o N
) 3 S

S o

- ~ *

o

3 o 5
8 7 9 S
\n S o
A J - N

4015 (]

SN14

18p

c2

OENS
U 0E0F SOW'J

LS
N <5

e

ZENS
U 925794

Mel_kf

1
!
i

€2NS

) ssi0r

Z2NS

D) oLor

FeNS

D ss0r

OZNS

[ sz0r

‘\lllllllllllllllll U

POOIH}

‘o)
Q

g

A



4K7 R7
100K ré

47K ns

G iz}
lory_¥it)

"

470p 16V
c7

+++++

4015 C

SN19

d

SN 18

4015

C

SN1Y

4015

404;‘? ‘ @ N
- SN3
B c4

- go15s

SN16

©

5§33

@
R ]

7805

o
P2

o1

02
D3
[s)

1We004
INL00¢
1A/ 4004

4

benNs
U 940 Sow-D

82ZNS
U 9L0F SOW "D -

L2NS
U 940F SOWD

9ZNS
U 940p SOW-D

SZNS
) 940y SON D

o

PZNS
9ZGF SOW'J

IENS

™. zzop SON'D

TTTTTTTTTTITTITTITTTTTTTIT

{
|




=

f— s s A

'69.35 I —_———— : x :-lnxllllxllixllllllx!xull PAGE

*0263370000 06 CARTE REEISTRE IEEE . 2230A * 06 IEEE REGISTER BOARD . 2230A E932563.8376397 *

EENSEEEEE XN AN EEAE FOPE MO P e 24
REPERE  REF. ADRET DESCRIPTION FOURNISSEUR/PLAN QIE
INDEXE  PART NUMBER PART DESCRIPTION SUPPLIER/ DFEAUING QrY
-001 1417016300 TM 17 MCIG ....... MALE®CARTE™ * TM 17 MCIG .............. MALE TRELEC
-002 1435004600 TM 35 MCIG ....... HM.E‘CARTE' ®TM IS MCIG ....civviiniinnns.

-001 3700020000 1MMF/35V 5,08 . STAND L TAG * 1MMF/35V 5,08 . STAND L TAG STC

-002 3600120000 4/20 PF ....REF CO10 808 23203 * 4/20 PF ....REF C010 808 23209 RTC(C010)
-003 3120011000 100PF 2,5 °N10°2222 680 58 101 * 100PF 2,5 °N10°2222 680 58 101 COGECO
-004 3700100000 4,7MMF/35V 5,08 .. STAND L TAG * 4,7MMF/350 5,08, .. .STAND L TAG STC

-005 3700250000 47MMF/6,3U 5.08 .. STAND L TAG ™ U/MMF/S, 3U 5 208" .. STAND L TAG STC:

-006 3700250000 “7MMF/6.3U 5.08 .. STAND L TAG ™ “7MMF/6,3V 508 .. STAND L TAG STC

DO XVHVDV VDV VOO OOODOOOOOOOOmD

-007 3500280000 470MMF 16V "PROMISIC 031 * Y70MMF iS "PROMISIC 031 SIC SAFCO
-008 3120004700 47PF 2,5 2222 680 10 479 * Y7PF 2,5 2222 680 10 479 COGECO
-001 4500040000 INYOO4 .............cccvvnnen *INHO0M .. it eieaeeen 7
-002 4500040000 INMOOM ................cc..... EOANHOOM ... 7T
-003 4500040000 INHOOY ..... 800600608006000600 EINYOOM ... 7
-004 4500040000 INHOOM ....................... ®OINHOOM ... I
-005 4500040000 INHO04 ..............ccceeenan I A A00GPOEONE0GAAaA0a0a00d 177
-006 4500310000 1 N Y48 ............. ... *INYME L I
-007 4500310000 1 N ‘HHB ..................... FLNUMNE e
-008 4500310000 1 N 4448 ............cc00enns N b b L B R RaRa e aaaRaAs IT7 ,
-001 5300450000 100MMH_ ORE 53870 DEL 1025-68 * 100MMH_ ORE 53870 DEL 1025 68 OREGA " DELEUAN ;
-001 2200024700 HK7 S8 N4 K7
-005 2200031000 10K 5% N4 % 10K 51 N‘i SOUCOR
-006 2210041000 100K 5% N4 ® 100K 5% N4 SOUCOR
-007 - 2210024700 4K7 SX N4 ™ 4K7 5% N4 SOUCOR
-008 2210034700 47K ST N4 * 4K SX N4 SOUCOR
-003 2210034700 47K 53 N4 * 4K 5% N4 SOUCOR
-010 2210034700 - 47K YA T Y/ § S% N4 SOUCOR
-011 2210034700 47K ST N4 X 4K 5% N4 SOUCOR
-012 2210034700 47K YR L 7/ ¢ 5% N4 SOUCOR
-013- 2210034700 l67!( ST N4 X 4K 5% N4 SOUCOR
-014% 2210034700 S¥ N4 ®E YK N4 SQUCOR

SN -001 4160473800 C- HOS 4738 * C-MOS 4738 RTC

SN -002 4160401400 C-MOS 4014
SN -003 4160404900 C-MOS 1049
SN -004 4160455600 C-MOS 4556
SN -005 4160455600 C- HOS 4556

SN -008 4160400200 C MOS 4002
SN -003 4160400200 C-MOS 4002
SN -010 4160402700 C-MOS 4027
SN -011 4160402700 C-MOS 4027
SN -012 4160402700 C-MOS 4027
SN -013- 4160408200 C-MOS 4082
SN -014 4160401500 C-M0S 4015
SN -015 4160401500 C-MOS 4015
SN -016 4160401500 C-M0S 4015
SN -017 4160401500 C-MOS 4015
SN -018 4160401500 C-MOS 4015
SN -013 4160401500 C-MOS 4015
SN -020 4160407600 C-MOS 4076
SN -021 4160407600 C-MOS 4076
SN -022 4160407600 C-MOS 4076
SN -023 4160407600 C-MOS 4076
SN -024 4160407600 C-MOS 4076
SN -025 4160407600 C- HOS 4076

SN -028. 4160407600 C-MOS 4076 x

SN -029 4160407600 C-MOS 4076 .. *

SN -030- 4160407000 C-M0S 4070 .. *

SN -031 4160402700 C-MOS 4027 ... o

SN -032 4150742600 SN 74 LS 26 N'3 . o . TEXAS

SN -033 4200260000 7805 UC 1A ........ REGULATEUR ® 7805 UC 1A ......... REGULATOR FAIRCHILD
- 10 0206460000 00 ETIQUETTE 6397 . IEC 2230A * OO0 LABEL 6997 ..... IEC 2230A ®942375........

11 1269970200 CI CARTE REGISTRE . IEEE.2230A * PC REGISTER BOARD . IEEE.2230A F336337

71 1900200000 EXTRACTEUR DE_CARTE ELEVATEUR® * BOARD EXTRACTOR "LIFTER® ..... TRELEC

M 4900340000 40 SUPPORT C€.I. DIL  J23.5040 * 40 CONNECTOR P.C. DIL J23.5040 JERMYN

26 £100030600 TCB M3X 6 U DIN7985-4,8 INOX * TCB M3X 6 U DIN7985-4,8 INOX BD

26 6200030000 ECROU H M3 U NF £27-411-5 INOX * NUT H M3 U NF E27-411°5 INOX . BD

26 6300030000 Z 3U (6X0,8) NF E27-611 INOX ® Z 3u (6X0,8) NF E27-611 INOX BD

6 6400530000 OEILLET LAITON ....... N° 2070 * FIXING EYELET BRASS .. N° 2070 MFOM

8 8100120000 00 COLONNETTE A SERTIR 4500 ©~ * 00 PILLAR TO SQUEEZE .... 4500 ADRET



DI04

Mas ' ]
—!5 22k §[
2

-t

|
|
DIoA l 4
o2
®_, B
| |
A yhs DIt fa
A 21
— A
@/A Listen only e ° g Digs I L
— S | DIoS |,
A - DIo? !s
PR ’
s |
PO DAY s
> 13 2262 Lnl
= b
e <85z EEER ’ Ay i
7000000000066 R 22k2 1In
1990999000000 [ IF G wmane
E §§l§[ 08 2 P v | I
> LV} BL184C | |
‘ mé g l I +5V
2kQ R 220 | l
i NDAC 3 G:'
] 2
| |
| 2
.5 l !
| | s 4
T | (=
]
REN ”:Du :
R 22480 TR
s Bi1g4
M
LB WY




. ‘ . ]
[0 ‘EIE_.__ _-LUTJ” T
[ {2240 [ 7ATS7Me 1, |1;
48 R6 4700 30pF l |

DI04 2 B~ 17 |> 3y '
{: La I

| E
DI03 I 4 16 LA l 15 - I ﬂHEUE
| {: I E I
' | é
| :

3 I
1nf T lan
[y =1
R 400 7 |33UpFl |
s{>u[:] u|>zll
]

48

| o
| RS 4700 330pF ]
DOt ! 8 {> 2 |> 9 1 i o
A }_ t I ; 1"'—"_i

P rry

®

®
>
L

S IR S
-~
5

®
>
~
30
=
)

®

DI0S

r———

®
=)

[ ]

®

®

e !
' 19 E 0
: : €|
| |
| | Ty
° ” ! ‘ l r7
° | R6 4700 | 30pF m% [I]mn
~—® T DIO6 ‘J1>LD—I——'5'{>—L|——1 i i
— | . | ey
AL | R 4700 l S | "E | an
e pIO? is u B a1 i {hatdg D3 B3
’ i | g
° o 3 = —
P ] I’"F 016 i l i R5 4 e
P | . g 400 7 B0y | ) A7ka 4 laus
Py DAV ! 8 2 1 k] i ‘}___TZ _i )|
. D — | l> ! pesris
R3 2240 5 (A 152; Tl ] u\ Y "
” - § _B_RMW Sy “My 33.(.)Pr! ﬁl @mn

)|
J

- 1)
R 22k 1 553 TN
| Hism 12.2nc 50oF | 2
IEC 2 wr | | hy
- m[) ,
o

)
|
1
|
, .
! £25 47eF I i
|
]
|

] $ ' W
£9 22,F 7kQ 2 [ — ‘
! ; Dacmc wl - 5 R20 22— 37 ! ! R34 mg
R0 > I | L [l ] Lt mplg LIRS
2k R4 2.2kQ I [ : 3 D2 1N 4448 47k i g |
I <} | h
NDAC l 50: I | D3 d i
A 4448
| TH_Q_L 1 l | o 330 4F
I N5 | EY 1t
N2 I | 4050 | R? Vee
| _m_<]_;_r_ afkall i
%5 22k0 | | : L ' S Pra
I [ /l 1y s e
| NRED | s{d ‘ N T $ i :
R 2262 ‘ ? | . : | . P | . REN
l REN ”:D:n : L ——] J W ‘E CANIS T B e
produit ¢
#19 2248 w BT ‘ : i
1 Brisal
][m
W 48

BV DATE




v

AV/RVIRVIRvI

.___.,_
<,
-Z‘P—S
NIG
2
~
3
£
S
B -[ B
—_ 4
o d
L&
R
}=)
L]

w
z
w
3
[—3
1=
[=]

=

| 87| rhe
l . [y E] Lve]
[y , Bana o) B0 | 5 47kQ
| R, ICI ____[ P I ‘I'"P'_‘ N 15
}_SN‘. 7415244 llnF —1 m’ ! ”k ! -
| ) [ R~ [: , | 0¥ | ;;é | {jmn ?IV““ g w:;’
1} ] e
} 153; l o | £_7Jl> sj{ b ¢
N i ] -&
ME 0 | el Hl | 1% | | !
'4l>1e — §|>§||.p- e ' 29
. | fnﬁf | . ! ! o | it L> 12 I ;?
| 7 I | G | ﬂlé l [i]gmz ) =
is u M B ;| B0 13 i 1H4448 D5 R3S 2k0 : JI ':
| 1& | w | 3IE | lms D4 - ijl/ e e
' [ s o, Neame . m,F! ;];é | [I]ma L S | | Py
HI[ o Ita _[ - JI 1 'u_'l ! u{> 15 ! ¢ —
B lm ﬁ;‘Izn T *0
X P T By ulé | Qi‘%‘m | | I
I J - i oy : .
‘l" w3 -I o b | | | ILa o
M 220 3305F g H ’ Ve flotant
34700 ) 1 y mé 4 2% e, 4 45V fitint]
T B. __@);__J!_I——‘ | ! CH‘Z?F I"nF ! V“-@_ g}r_: Lgr:é
— 20 220 — o i — y ¥
Tt , ¢ >

—
A\
-]

20000

.
D2 N 4448 47k

=

© o
= = |
o -
o bey]
hod <
-
- N
4=z SR
oo = =
o
b=
n Ir... =

| D3
y SLLLT)

r_w
LT

T %

T 1 -
i 11 I = ,
wm 5300 | : —
L 1 | s - [eamm e |ADRET ELECTRONIQUE &8

| _u{h— B —NI
1
=t
o=
; a8
(==}
: .
g
ot
5=
{9
=
=
z 5
J&

————— ::06::( san:yxmr:sa:n: TYPE 223“ A
J«F.eg *+] ISOLATEUR BUS IEEE Frecer it

Plate ]
09071 ISOLATOR IEEE BUS [c5777 480




CONNECTEUR 14 260245

RIE__
(22t ]

4050

" + \ SHF
w99 Q@) e
~ 27
e 447 A SRS
ﬁi?e 5;9 R0 —@/?EO R?;@ /?27@&2;@/?2?@ /9236 SN /?i’._ie /?;.ée
mwz Cozmz o || awz oo
12: 770 2:0 D @D 5
2x IW4448
 muue v ([ H /m,z w3 R
A S wyw wr C
& . s o
”@e”i’b”@O”ge 51470 ”’—"Q lra > RSN B
@DTTD -@—W s
Axln : v ’9/0 IN4448
| VAV oF
3 1 , t
Mt o i s «7/
lfxl'ﬂ . S : A
.lﬂ 000U “T
| ' VA o

&




REPERE
INDEXE

-001
-001
-002
-003

-005

NV VOOV VDD VD VDV DDV VDV O0 VDDV VD0 VDD VAWV DV VOODCOOOTOCOOOCOIOOOOOOOOOOCO0O0O0O00O0ND
\
8

lillllllllllllllllllllllll‘ll!!lll'llllllll PAGEhU

0274880000 02 CARTE ISOLATION IEEE 2230A ® 02 IEEE INSULATING BOARD 2230A D332361.C377488 *

i il d s 333383t d ittt iisdiiiitedidqdtidddssteddiqettsdissssistsig} AEREEERN 25
REF. ADRET DESCRIPTION FOURNISSEUR/PLAN  QTE
PART NUMBER PART DESCRIPTION SUPPLIER/DRAVING  QTY
1426024500 26 TRANSITION DROIT 3429-6002 * 26 STRAIGHT LINKAGE 3423-6002 3M
3120021000 1 NF 2,5 2222 630 51 102 * 1 N¢ 2,5 2222 630 51 102 COGECO
3120021000 1 NF 2,5 2222 630 51 102 * 1 NF 2,5 2222 630 51 102 COGECO
3120021000 1 NF 2,5 2222 630 51 102 ® 1 NF 2,5 2222 630 51 102 COGECO
3120021000 1 NF- 2,5 2222 630 51 102 * 1 NF 2,5 2222 630 51 102 COGECO
3120021000 1 NF 2,5 2222 630 51 102 ® 1 NF 2,5 2222 630 51 102 COGECO
3120021000 1 NF 2,5 2222 630 51 102 *.1 NF 2,5 - 2222 630 S1 102 COGECO
3120021000 1 NE 2,5 2222 630 51 102 * 1 NF 2,5 2222 630 51 102 COGECO
3120021000 1 NF 2,5 2222 630 51 102 * 1 NF 2.5 2222 630 S1 102 COGECO
3700180000 22MMF/ 16U 5,08 ... STAND L TAG = 22MMF/ 16U 5,08 ... STAND L TAG STC
3120013300 330PF 2,5 N33°2222 680 58 331 * 330PF 2,5 "N33°2222 680 58 331 COGECO
3120013300 330PF 2,5 "N33°2222 680 58 331 * 330PF 2,5 "N33°2222 680 58 331 COGECO
3120013300 330PF 2,5 "N33°2222 680 58 331 * 330PF 2,5 "N33° 2222 680 58 331 COGECO
3120021000 1 NF 2,5 2222 630 51 102 * 1 NF 2,5 2222 630 51 102 COGECO
3232220200 2200PF 5,08 10% IRD607 * 2200PF 5,08 10% IRD607 L
3120013300 330PF 2,5  ‘N33°2222 680 58 331 *® 330PF 2,5 'N33°2222 680 58 331 COGECO
3120013300 330PF 2,5 ‘N33°2222 680 58 331 * 330PF 2,5 °‘N33°2222 680 58 331 COGECO
3120013300 330PF 2,5 ‘N33°2222 680 S8 331 ™ 330PF 2,5 °*N33°2222 680 58 331 COGECO
3120013300 330PF 2,5 °N33°2222 680 58 331 * 330PF 2,5 ‘N33°2222 680 58 331 COGECO
3120013300 330PF 2,5 ‘N33°2222 680 S8 331 * 330PF 2,5 "N33°2222 680 S8 331 COGECO
3120013300 330PF 2,5 'N33°2222 €80 58 331 * 330PF 2,5 'N33'2222 680 58 331 COGECO
3120013300 330PF 2,5 "N33°2222 680 58 331 * 330PF 2,5 °N33°2222 680 S8 331 COGECO
3120013300 330PF 2.5 ‘N33°2222 680 58 331 ® 330PF 2,5 'N33°2222 680 58 331 COGECO
3120013300 330PF 2.5 'N33°2222 680 58 331 * 3J30PF 2,5 ‘N33°2222 €80 58 331 COGECO

3700180000 22MMF/ IGU 5 08 ... STAND L TAG * 22MMF/16U 5,08 ... STAND L TAG SIC
3233470300  “7NF 5,08 104 I * 47N 5,08 101 IRD607 LCC
3120021000 1 NF 2.5 222 630 51 102 * 1 NF 2.5 2222 §30 51 102 COGECO
3700180000 22MMF/16U 5,08 ... STAND L TAG * 22MMF/16V 5 ,08 ... STAND L TAG STC
4500310000 1 N 4448 .............. ... CINWME L
4500310000 1 N ‘H‘i8 ..................... TINWME L ITT
4500310000 1 N 4448 ... ........ ..., ELNWME L 17
4500310000 1 N Y448 ..................... TINYHE L IT7
4500310000 1 N W48 .. ... ...l *1N ‘H‘QS ..................... ITT
4500310000 1 N Y448 ... ... .. ...l ELNUYYHE L ITT
4300190000 BCSSO0C /414C/413C/SHIC(BCI8YC) * BCSSOC /414C/413C/SHIC(BCISHC) RIC
4300130000 BCSSOC /41%/4130/549(3(8(:18%) * BCSSOC /414C/413C/S49C(BCIBHC) RTE
2900022200 2k2 NK3 * 2K2 5% NK3 SQUCOR
2900022200 K2 SZ NK3 * 2K2 5% NK3 SOUCOR
2900022200 2K2 SX NK3 2K2 ST NK3 SOUCOR
2900022200 2K2 NK3 = 2K2 S% NK3 SOUCOR
2610922200 9X2K2 2% 4310R- 101 222 ® . 9X2K2 2% 4310R-101- 222 BOURNS
2200014700  470R ®  Y70R SL N4 SQUCOR
2200014700 - 470R 51 N‘i ® Y70R 51 N‘i SOUCOR
2200014700  470R 53 N4 * Y70R T 5% N4 SOUCOR
2200014700  470R 5T N4 *  470R 5% N4 SOUCOR
2300032200 22K % NK3 * 22K 5% NK3 SCUCOR
2900032200 22K 9% NK3 *x 22K 5% NK3 SOUCOR
2300022200 2K2 5% NK3 = 2K2 5% NK3 SOUCOR
2900014700  470R S NK3 *  Y70R 5% NK3 SOUCOR
2200014700  470R 52 Nt ® Y70R S% N4 SOUCOR
2200014700  470R 51 N4 ®* Y70R 5% N4 SOUCOR
2200014700  470R 51 N4 % Y470R 5% N4 SOUCOR
2200014700  470R 51 N4 *  Y70R 5% N4 SOUCOR
2200014700  470R SY N4 X Y70R 5% N4 SQUCOR
2210022200 - 2K2 5% N4 x 2K2 5% N4 SOUCOR
2210022200 2K2 ST N4 ™ 2K2 5% N4 SQUCOR
2210013300  330R S% N4 ®  330R 5% N4 SOUCOR
2200024700 HK7 Y YK7 5% N4 SOUCOR
2200024700 4K7 ST N4 X HK7 5% N4 SQUCOR
2200024700 HK7 EYO o YK7 5% N4 SOUCOR
2200024700 4K7 5% N4 * HK7 5% N4 SOUCOR
2200024700 HK7 SX N4 * 4K7 5% N4 SOUCOR
2200024700 4K7 X Ny o® 4K7 5% N4 SOUCOR
2200024700 4K7 SX N4 * YK7 5% N4 SOUCOR
2200024700 4K7 5% N4 ¥ 4K7 5% N4 SOVCOR
2200024700 HK7 ST Ny ® YK7 5% N4 SOUCOR
2200024700 47 5% Nux 4K7 5% N4 SOUCOR
2200024700 4K7 ST N4 = 4K7 5% N4 SQUCOR
2210024700 K7 SX N4 * 4K7 5% N4 SQUCOR
2210032200 22K ST N4 22 5% N4 SOUCOR
2210032200 22K 51 N4 * 22K 5% N4 SOUCOR
HIS7424400 SN 74 LS 244 N 3 ... ......... * SN 7’4 LS 44N L TEXAS
4110743800 SN 7438 N .................... ®ONTHIB N ......oiiiiiiin, TEXAS
H157413200 SN 79 LS 132 N3 . ........... * SN 7‘i LS 132 N3 ...l TEXAS
HIS7424400 SN 74 LS 244 N3 ............. *ONTHLS 244 N3 ...l TEXAS
4160405000 C-MOS 4050 ................... ¥ C-MOS 4050 ................... RTC
4000200000 COUPLEUR OPTO “N26 ........... " OPTO COUPLER 4N26 ............ MOTOROLA
4160405000 C-MOS 4050 ................... i L1050 JHTNNE AP RTC
4160405000 C-M0S 4050 .................n. ®C-MOS HO0S0 ....... ...l RTC

.g_apuua”a_‘n‘—apnhnygpapupah_uupdpapahahahahupupapqpqhahuhdyqyup—yuyup_—upgp—_u_ayg_u_—_uhuyuyu.a-ay-ya—_hn—«uapana_—pahuh-yupup-yuyayapuhapahab&yuhuuayupuya
Fd
. .



= o = = - - = - = = e

" — — illlllllill!llll’ll"" e ""'Iﬁ? ""'llll“l PAGE

‘0.37‘0880000 02 CARTE ISOLATION IEEE 2230A * 02 IEEE INSULATING BOARD 2230A D332361. 377488 *

—

FOURNISSEUR/PLAN  QTE

REPERE - REF. ADRET DESCRIPTION
INDEXE - PART NUMBER PART DESCRIPTION SUPPLIER/DRAVING  QTY —
SN -009 4160405000 C-MOS 4050 ................... -MOS H050 ...........ccezonn. RTC 1
-001 0218120000 01 TRANSFO ISOLATION ... 2230A * 01 INSULATIM; TRANSFO .. 2230A ADRET.......... 1
-002 18120000 O TRANSFO ISOLATION ... 2230A ® 01 INSULATING TRANSFO .. 2230A ADRET.......... 1
-003 0213120000 01 TRANSFO ISOLATION ... 2230A * 01 INSULATING TRANSFO . 2230A ADRET.......... 1 -
1 1274880000 CI CARTE ISOLATION ..... 2230A * INSULATION BOARD PC .... 2230A A997488 1

[

»



-
o

STV P PP TPER CRPV SRR P =1

-------- . sanxaxsnn PAGE

¥0422308302 03 OPTION 1 BCD ........ 2230A * 03 OPTION 1 BCD ........ 2230A A932555(2)..... *
0200 20 00 020G ue XN 27
REPERE  REF. ADRET DESCRIPTION FOURNISSEUR/PLAN  QTE
INDEXE - PART NUMBER PART DESCRIPTION SUPPLIER/DRAVING  QTY
001 0263130000 O1CARTE OPTION BCD ..... 2230A * 01 BCD OPTION BOARD .... 2230A 932547. 976313 1
20 0206730000 00 NATTE 25°171°°179°L210 2230 * 00 FLAT-T.25°171 17371210 2230 ADRET.......... 1
20 0206740000 00 NATTE 37°180°°181°L150 2230 * 00 FLAT T 37°180 181°L150 2230 ADRET.......... 1
11 1900120000 VERROUILLAGE FEMELLE . 8630-01 ® FEMALE LOCKING ....... 8630-01 SOURIAY 4
26 6100030800 TCB M3X 8 U DIN7385-4,8 INOX * TCB H3X 8u DIN7985 4.8 INOX BD 4
18 . 30000 ETIQUETTE SIGNALETIQlE ADRET ™ LABEL ........5 ........ DRET A940006 1
28 8006701200 PANNEAU OPTION ‘B C D° . 2230A ®* ‘B C D" OPTION PANEL 2230A B9I42187.A342185 1



Constonte de

ALC time ¢
"5Y<——] 1 2 4 [} - Inhibition
Ol O QO (e} CP O
O O o O o] o]
“1"Local
o o] Q o] (? o o] “0" Distonce
o] ¢ o} o o )
8 ‘ 2. |1 ;]7/1 2 4 8 1 2| 4 [
CR31 |CR30 |CR29 |28 |CR35 |CR34 (R33 |cr32 {cr39 |cr3e {cr37 |cr36 CRU3 R4z |crut {corio |rr2S w26 cry  {cr3 |c
[ b b A R hio MUt R R Gl A Rl (LA S AR M L LA [ R S
v & K XK X X X 4 X 3 2 2 2 A 4 X % 1 13 A 2 12
- ° Py - ° ° Py . Py ° ° *5v .
3 y L)[]—<
R31 | R30| k23| R28| R3S | R34 #33 | R3z| m39| R3g| k37| R36 RU3 | Ru2| Rr41 | mio| k25] k26 Ry | R3 | A2
3 4 2 10 12 1% ,5 14 2 10 _‘ 12 /4« 5 u 12 _° 12 % 3 & 2
r—-—'—"“———_—*'——"—'\ -t - =T — - T T f‘——"""""——“
' LT { 4 . 0 { % | |
7
YYYY.YV5YYYYYY4IYYVYVY VA AvAAVAV/
I SN | 40097 ¢ I. sw7 {Loog7 & Sne | 40037 &) J s
e o 18 U L U AN ‘i) AU i (5 VO (ORI A Dl Sngust DR N S SN N A
7 5 3 g 11 13 H 5 3 g ”? 13 7 5 3 9 17 3 7 5 3
L 15V
R4y s .
._1 B
H ]sm }
o IS
] FULS 26 l
wﬁl——-r\ 1t
—
=
L =3
#5V
4 01 20uF
cR2Y
4 T
N EEICECRECHG I I
D © ® G © 5 @ © ® 0 00 6 6
;. Constante 4
8 4 2 8 4 2 1 8 4 2 1 8 & 2 7 de temps d'ALC Tnhibition  +6V P86 2 1
\——V—J
e I N ~ ALC time constant I
0,01d8 0,148 1dB 1048 ! 100 Hz
'L "'1" Local

"0” Distance



Constonte de temps d'ALC [

ALC time constant [
[ Inhibition » +5V+ b 2h 4h ok b 24 4 e
o o ol 0 (f 0 T c
o o ) o) o ) )
“1"Locol
o Q CP ° “0" Distance ﬁ T QJ) T @
o o o o) ) o 4)
L M 8 R R B B B B B
v38 [CR37 [CR3E CRU3 ICRL2 |CR4t |CRUD {CR25 |cR26 CRY CR3 CR2 CRT CRE8 | CR? LRE |CRS [RIZ |CRIS CRID | (RS (RIS (RIS
A A XA X X %2 % 1 A4 X 2 X X% % A X X 2 2 2 A X
" . ~ #5y A A A ~ ° o A . °
y ] -4
R37 | R36 Ruz | ri2| mar | Reol k25| es RY &3 ] R2 | R1 R8 | £7 R6 RS | Rr2] rir{ rw0| RS R16 | R15] Ry
) 12 74 & 4 2 10 12 14 £ & 2 1o 2 1% & 4 2 0 72 14 2 4
""""__""" l—'—_“‘”‘“_—"—-‘""‘""i ;"“"—"—_‘_‘"—""_"‘""""“i r"—"_""‘_'—""—_"—-"’"i rrr—mT-—
o | S \ ' VAVAVRIEIR
1 7 1 1 7
<7€75 YYYYYYV AYYVYYYVIEYVYVY VY Vs
0397 W SNe | 40097 & SN2 | 40097 1§ SN3  [hoo87 l )
— e o L-_____.___._._,__._ —_—— e —_ L —e el L [ SRS I
7 13 7 5 3 3 77 13 7 5 3 3 17 13 7 5 3 3 17 73 3 5
- 5V
CRAG R27 .
L
"o
r-.V(C -l1
ym@ma :
glsm
N T
ol7isz6 |
4—J—j“\ 11
@
L—))-T;
Lt
L =2
+5V e
+cz.2?,9r BEN—
CR2F
i T }
2 7% @B @ ® G) 0 2 75 G | (g 20 22 % 28 28 » | @
D O _® oo OO 000660666006 6
;’ Constante ’
1,8 & 2 1 77  de temps d’ALC Inhibition  +6v B4 2 1,8 & 2 1,8 4 2 1 .8 4 2 1.8 4 2 1 .8 4 2 1
i ALC time constant : Y
10d8 : 100 Hz 107 Hz 102 Hz 103 Hz 104 Hz 105 Hz
L "1" Locat

"0" Distance




istante de temps d ALC
LC time constant
Inhibition 212
0 o )
O (@] o] O
(r Q@ (6] (o]
o] O @] o]
4 8 8
N G0 L ) | TR _jreo_jcrrs |98 _[Trrr_{(R24 |(re3 | (r22 {ce2r
4 32 12 y A A A A Y . 4 4 2
° A ( S -
N
g
; ; g 1
23 R2 R1 134 R20 R19 & | k17| R2E| R23| R22| K21
& 2 7o 6 12 0 2 4 'Y 14 12 10
—~N—_— ——tr e e L b - T L e L - - — =
I [
VYV VYV S Y VY § VY ¥ § Y V! /Y'Y VY
SN2 | 40097 SN. SNk . Loog7 [ SNE | L6097 l
—) e L RN R R U | R I S S |
5 3 g 7 1" § 7 13 17 &7
—

e)
©
~ @

160 Hz 101 Hz

ocal

‘istance

Toules diodes . 10 L4L8
All diodes CIN Gl 8

Toutes resishnces . 22k
All resistors © 22u.0

Y co docoment ne pout irs communwé
i rapcoduit s muteviatton

mdrak =iz arenienrs

DATE: JUILLEY 1878

ETUDIE

2233A

PROGRAMMATION 3CD PARALLELE

PAGE : 1 / 1

PARALLEL BCD PROGRAMMING

9]7;6/91113]A




22K R

L

22K R3 |
22K R2 |
(22K A1 |

22k R40]
,

22K R31
22k _R30]

22k Rz8

ZNS

£600Vv

NS

»)

9ZSTHL

g P¥q
gNS
D) L600¥
LNS
D) L600Y
8NS
») L600¥

[TTTTTTITTTTTT]

TEEEET T




